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H.P.A.S, (Main)—2011
ECONOMICS
Paper 1
Time : 3 Howrs Maximum Marks - 150
Nopte — Attempt five questions in all. Question No. 1 is
eompulsory, All guestions carry equal marks.
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1. Distinguish between profit maximisation and
sales revenue maximisation objectives of a firm.
Discuss eritically the Baumol's theory of sales
revenue maximization in this context, How far is it

relevant ? 5205
P.T.C.
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2, "'Keyneg discovery of the consumption function must

be regarded as one of the major break-throughs of

modern economics.” Discuss this gtatement and

bring-out the importance of consumption function in

modern economic analysia. an
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Bring-out the precise differences between the
indifference curve technique and the revealed preference
technigue for studying conditions of equilibrium of
the consumer. Which of these two do vou consider

better and why ¥ 20,100
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4. i)iscusa the neo-classical model of sconomic growth,
In what respects is it an improvement on Harrod-
Domar mode]l 7 20,10
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“The classical theory of trade is essentially a theewy
of international divigion of labour,” Discusa the
statement and point-out the limitations of the ¢lassical
theary, 20,10
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8. Deseribe in brief the growth of public expenditure in
Tndia since independence with faeus on the laat 20 years.
Whether you see any change in ita mature amd composition
What measures have been adopted by the Government

for expendilure mEnagement ¢ 10,1010
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T Deseribe the various instruments of central banking. Do
these differ in developed and developing economies 7

Diseuss eritically. 15,15
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8 Write notes on any fwo of the following : 15,15
) Elasticity of demund and its measurement
5)  Raole of muoltiplier in national ineome determination
(e Tax incidence and shifting of tax

e IMF and India.
P 0.
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